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I.(a)
(b)

(c)

(d)

(e)

(f)

(g)

(h)

I
Answer all quedtiorus.

Difrerentiate classeg and objects with examples.

Explain glass hierarchy.

What is the purpose of class diagram ? Give examples.

Are aggregation and association same ? Explain.
Explain Encapsulation structure. .

Discuss the principles of closed behaviour and type conformance.

Co-Fare overloading with overriding.

What ad co-pooents ? Explain..

What are the benefits of objeet oriented approaph ?

,Write a note on operator overloadir,tg. ' 
,

Or
Compane methods, messaging and statee of object.
Write a note on Runtime polymorphism.
Expla in collaboration d.iagrams with examples.

For the Banking.application, provide state d.iagrams.

Or '.--, ' '

How synchronization can be achieved in object programmin' ?

Explai; Packages with examples.
ExPlain cohePion in detail.

II. (a) (i)
(ii)

(b) (r)
(ii)

III. (a) (i)
(ii)

(b) (t
(ii)

Iv.(a) (i)
(ii)

(8x5=40marks)
(S m4rks)

. 
(? marks)

(8 marks)

O nartsl
(E marks)
(? mqrks)

. (8 marks)
(7 marks)
(8 marks)

For the vehiclg class, provide state spaces, behaviour ofclasses and subclasses.
(7 marks)

' *' 
,$l ffi"ffiffii-Jt*"f;urtipreinheritanceindera'. l?ffiil]

V.(a) (i) Compareobjectswithcomponents. (gmarks)
(D Explain abstract cliass, concrete class, mix in class with examples. O -*t"i

Or'
(Z marks)(b) (l) Expli.in Tings of Operations'.

(ii) How degigr of a component is done ? What.are the factors involved ? Explain in detail.

(8 narks)


